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Suppose the loop in the figure below is
\2) rotated about the y-axis:
D) rotated about the x-axis;

¢) /rotated about an edge parallel to the z-axis.

What is the maximum induced emf in each case if A= 600 cm”, »=35.0rad /s,
B=0.450T?

|

[

LV””T
"{/ e
()

| s S |
« N S WT | =
& E, S SR < __C_\l__,(/(B;)(AV‘))' J{'__(BHCOS )

o |

at dt

s Phax = GRS (O'Z’ST)'(690'/0_"‘”1)'(35—(&4/5) =
= 0.9485 T m Z/K 4

) € = - ((ag) (i)l = - 2 (BAms2)= O ¢

W ' C/ ¢ &rg//g/
C) Le'f ﬂv( /00/9 /p ro/ﬂ/t’ aém;f ﬂxﬁ rii7/|rt Q(;) 4 j’ /D
to fhe 2-ays, Yhias colse LS %ejame as mU
A SR R R ST )T
E"-"*j’-i-((ﬂx)'(/)n)) dt(
- = 5ﬁw€?nw1‘
£l§¢x = BAw= 0. 945 AT




PHYS 102: General Physics2 KOC UNIVERSITY Fall Semestre 2015

College of Sciences

Section 2 Quiz 10 04 December 2015

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student 1D: Signature:

A rectangle measuring 30.0 cm by 40.0 cm is located inside a region of a spatially
uniform magnetic field of 1.25 T, with the field perpendicular to the plane of the coil as
shown in the figure.The coil is pulled out at a steady rate of 2.00 cm/s traveling

perpendicular to the field lines. The region of the field ends abruptly as shown. Find the
emf induced in this coil when it is;

All inside the field:
b) Partly inside the field:;
c) All outside the field.
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The current in the long, straight wire AB shown in the figure below is upward and is
increasing steadily at a rate di/d. Gngd

\@) At an instant when the current is i, what are the magnitude direction of the field B
al a distance r to the right of the wire? 1
What is the flux d® ; through the narrow, shaded strip?

\cr)/ What is the total flux through the loop?
\ph/ What is the induced emf in the loop?
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